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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Give an overview of Fiedler‟s contingency model of 

leadership. Is it a unique model ? 

usr`Ro ds QhMyj vkdfLed ekWMy dk voyksdu dhft,A 

D;k ;g ,d vf}rh; ekWMy gS \ 

2. “Communication is a circular process.” Examine this 

statement. State the process and principles of 

communication. 

ßlapkj ,d o`Ÿkkdkj izfØ;k gSAÞ bl dFku dk ijh{k.k 

dhft,A lapkj dh izfØ;k o fl)kUrksa dh O;k[;k dhft,A 

3. “Planning is technically possible without controlling; 

but not practically desirable.” In the light of this 

statement explain the relationship between planning 

and controlling. 

ßfu;kstu fu;a=.k ds fcuk rduhdh :i ls lEHko gS( ysfdu 

O;kogkfjd :i ls okaNuh; ugha gSAÞ bl dFku ds vkyksd 

esa ;kstuk vkSj fu;a=.k ds e/; ik;s tkus okys lEcU/kksa dh 

O;k[;k dhft,A 

4. Enumerate the assumptions of McGregor‟s Theory X 

and Theory Y. Which of these theories has wider 

applicability in our country ? 



 [ 3 ] M.Com.–01 

 (B-36) P. T. O. 

eSdxzsxj ds fl)kUr ,Dl vkSj fl)kUr okbZ dh ekU;rkvksa 

dk o.kZu dhft,A bu fl)kUrksa esa ls dkSu&lk fl)kUr gekjs 

ns’k esa O;kid :i ls mi;qDr ekuk tkrk gS \ 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is management ? Describe the process of 

management. 

izcU/ku D;k gS \ izcU/ku dh izfØ;k dk o.kZu dhft,A 

2. What do you understand by Project Organisation ? 

ifj;kstuk laxBu ls vki D;k le>rs gSa \ 

3. Write a note on Strategic and Tactical Decisions. 

j.kuhfrd vkSj dk;Zuhfrd fu.kZ; ij ,d fVIi.kh fyf[k,A 

4. Explain the application of Johari Window. 

tksgkjh foaMks ds vuqiz;ksx dh O;k[;k dhft,A 

5. Shorter span of control vs. Wider span of control. 

vYire fu;a=.k foLrkj cuke O;kid fu;a=.k foLrkjA 
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6. Explain the concept of MBO. 

,e- ch- vks- dh vo/kkj.kk dh O;k[;k dhft,A 

7. A dominant culture expresses the core values that are 

shared by a majority of the organization‟s members. 

Comment. 

,d izHkko’kkyh laLd`fr cqfu;knh ewY;ksa dks O;Dr djrh gS 

tks laxBu ds vf/kdka’k lnL;ksa }kjk lk>k fd, tkrs gSaA 

fVIi.kh dhft,A 

8. Explain resistance of change. State why do people 

resist to change. 

ifjorZu ds fy, izfrjks/k dh O;k[;k dhft,A yksxksa ds }kjk 

ifjorZu dk fojks/k D;ksa fd;k tkrk gS \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Maslow‟s need classification is not just an ordinary 

classification of human needs, it is rather, based on 

hierarchy concept. (True/False) 
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ekLyks dk vko’;drk oxhZdj.k dsoy ekuoh; vko’;drkvksa 

dk ,d lkekU; oxhZdj.k ugha gS] cfYd ;g Øec) 

vo/kkj.kk ij vk/kkfjr gSA   ¼lR;@vlR;½ 

2. Transactional leadership defends and guard the culture. 

     (True/False) 

O;ogkj lEcU/kh usr`Ro laLd`fr dh j{kk djrk gS vkSj bls 

lajf{kr djrk gSA   ¼lR;@vlR;½ 

3. Matrix organisation is not a combination of functional 

departmental organisation and project organisation.  

     (True/False) 

vkO;wg laxBu dk;kZRed foHkkxh; laxBu vkSj ifj;kstuk 

laxBu dk la;kstu ugha gSA   ¼lR;@vlR;½ 

4. Psychological test is a test given to a candidate in 

performing the job for which the candidate has applied. 

     (True/False) 

euksoSKkfud ijh{k.k ,d ijh{k.k gS tks vkosnd dks ml dk;Z 

ds fuoZgu ds fy, fn;k tkrk gS ftlds fy, vkosnd us 

vkosnu fd;k gSA   ¼lR;@vlR;½ 

5. Something that predisposes a person to act in a certain 

way is called attitude. (True/False) 

og ftlesa ,d O;fDr fdlh dk;Z dks fuf’pr rjhds ls djus 

ds fy, igys ls gh izo`Ÿk gksrk gS] vfHko`fŸk dgykrh gSA  

    ¼lR;@vlR;½ 
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Choose the correct alternative : 

lgh fodYi pqfu, % 

6. Which of the following is an offspring of the 

contingency approach to management ? 

(a) Entrepreneurial mode 

(b) Adaptive mode 

(c) Planning mode 

(d) None of the above 

fuEufyf[kr esa ls D;k izcU/k ds vkdfLed n`f‛Vdks.k dk ,d 

ifj.kke gS \ 

¼v½ m|e’khyrk eksM 

¼c½ vuqdwyuh; eksM 

¼l½ fu;sktu eksM 

¼n½ mi;qZDr esa ls dksbZ Hkh ugha 

7. Which of the following is not the operational feature of 

planning ? 

(a) Planning is all pervasive. 

(b) Planning is continuous. 

(c) Planning is both long-range and short-range. 

(d) Planning is goal-oriented. 

fuEufyf[kr esa ls D;k fu;kstu dh ifjpkyu fo’ks‛krk ugha  

gS \ 

¼v½ fu;kstu lHkh txg O;kid gSA 
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¼c½ fu;kstu fujarj gSA 

¼l½ fu;kstu nksuksa yEch nwjh vkSj de nwjh dk gksrk gSA 

¼n½ fu;kstu y{;&mUeq[k gSA 

8. Communication must be a two-way process, is based 

on which of the following principles ? 

(a) Principle of Brevity 

(b) Principle of Feedback 

(c) Principle of Rationality 

(d) None of the above 

lapkj nksrjQk izfØ;k gksuh pkfg,] ;g fuEu esa ls fdl 

fl)kUr ij vk/kkfjr gS \ 

¼v½ laf{kIrrk dk fl)kUr 

¼c½ izfriqf‛V dk fl)kUr 

¼l½ rdZlaxrrk dk fl)kUr 

¼n½ mi;qZDr esa ls dksbZ Hkh ugha 

9. Which phase of the conflict process is associated with 

frustration awareness ? 

(a) Aftermath 

(b) Middle 

(c) Beginning 

(d) Source 
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fuEufyf[kr esa ls la?k‛kZ izfØ;k dk dkSu&lk pj.k fujk’kk dh 

tkx:drk ls tqM+k gS \ 

¼v½ ifj.kke 

¼c½ e/; 

¼l½ ‘kq#vkr 

¼n½ lzksr 

10. The employees of the organization consider whose 

behaviour of the following as a benchmark for defining 

appropriate behaviour ? 

(a) New Employees 

(b) Top Management 

(c) Immediate Supervisor 

(d) Government Officials 

laxBu ds deZpkjh fuEu esa ls fdlds O;ogkj dks ekun.M 

ds :i esa mfpr O;ogkj ekurs gSa \ 

¼v½ u, deZpkfj;ksa dk 

¼c½ ‘kh‛kZ izcU/ku dk 

¼l½ rRdky i;Zos{kd dk 

¼n½ ljdkjh vf/kdkfj;ksa dk  
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